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INSTRUCTIONS TO CANDIDATES

¥ Answer all the questions.

¥ Read each question carefully. Make sure you know what you have to

do before starting your answer.
¥ You may use a calculator.
¥ Do all rough work in this book.

INFORMATION FOR CANDIDATES

¥ The number of marks is given in brackets [ ] at the end of each

question or part question on the Question Paper.

¥ You are reminded of the need for clear presentation in your

answers.
¥ The total number of marks for this paper is 80.
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Question 1.

Write down the value of the 5 in 14.25.
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5 hundreths or > B1
100

(Total 1 mark)

Question 2.

Here is a list of six numbers.

Which number in the list is not a factor of 48?

16

48

7 B1
(Total 1 marks)

Question 3.

Write 0.73 as a fraction.

~ B1
100

(Total 1 marks)

Question 4.

(@) Simplify 4a—a+3a

(b) Simplify Sxtxyx9

(c) Simplify  j*+2j*

6a B1
)

45ty B1
e}

3j*B1
(1)

(Total 3 marks)




Question 5.

A shop sells note pads at different prices.
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The cheapest note pad in the shop cost 63p each. The more expensive note pads cost £1 each.

Ahmed buys 6 note pads from the shop.
He pays with a £10 note.

(a) If Ahmed buys 6 of the cheapest note pads, how much change should Ahmed get?
1000 — (63 x 6) = M1
622

Instead of buying the cheapest note pads, Ahmed buys 7 of the more expensive note pads.

He still pays with a £10 note.
(b) How does this affect the amount of change he should get?

He will get £3.22 less change back C1

£6.22 Al
2)

(1)
(Total 3 marks)

Question 6.

Tracey and Joanne have saved a total of £568 for their skiing holiday.
Joanne saved £52 more than Tracey.

How much did Joanne save?

568 — 52 =516
516 ~2 =258 P1
258 +52 =310

£310 A1
(Total 2 marks)




Question 7.
Work out 45% of £80.
(45 +100) x 80 P1
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£36 Al
(Total 2 marks)

Question 8.

Here are four fractions.

Write these fractions in order of size.
Start with the smallest fraction.
LCM =36

18 17 30 !

36 36 36 36

(Total 2 marks)

Question 9.

What percentage of this shape is shaded?

1 v
I

!
T X 100% =M1

60% Al
(Total 3 marks)




“PiXL..

partners in excellence

Question 10.

The manager of a shoe shop recorded the size of each pair of shoes sold one morning.

W B~ N L OO
Wk N U OO
W B~ N N

The mean size of the shoes sold that morning is 5.35.

The manager says,
“The mean size of the shoes is not a very useful average.”

(1) Explain why the manager is right.
There is no shoe size of 5.35. It has to be a whole number or in halves C1

(i) Which is the more useful average for the manager to know, the median or the mode?
You must give a reason for your answer.

Mode =5 and therefore shows the most popular shoe size sold. C1

(Total 2 marks)
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Question 11.

In a shop, the normal price of a television is £850.
The shop has a sale.

In week 1 of the sale, the price of the television is reduced by 20%
In week 2 of the sale, the price of the television is reduced by a further £50.

Thomas has £625.

Does Thomas have enough money to buy the television in week 2 of the sale?

Y ou must show how you get your answer.

20% of 850 =170 850 —-170—-680 or 850 x 0.8 =£680 P1
680 — 50 =£630 P1

No, Thomas does not have enough money to buy the television. He is £5 short. C1

(Total 3 marks)
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Question 12.
The length of a bus is 4.25metres.

Mark makes a smaller scale model of the bus.
He uses a scale of 1 cm to 25 cm.

Work out the length of the scale model of the bus.
Give your answer in centimetres.

4.25 x 100 = 425
425+ 25=17(cm) P1 A1

(Total 2 marks)




Question 13.
Here are the weights, in pounds, of 15 adults.

121 144 136 140
131 128 142 132
121 134 136 150

(@) Show this information in a stem and leaf diagram.
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143
127

159

12 1 1 7 8
13 1 2 4 6 6
KEY
12]1 =121
14 0 2 3 4
15 0 9

C1 unordered diagram with just one error or for an ordered diagram with no more than two errors

C1 for a fully correct diagram

C1 for a correct key (units may be omitted but must be correct if included)

One of the adults is chosen at random.
(b) What is the probability that this adult has a weight greater than 1301bs?

Recognising 11 out of 15 over 1301bs M1

3)

11
— Al
15
)
(Total 5 marks)




Question 14.
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(a) Write down the coordinates of point A.

(b) On the grid, mark with a cross (x) the point (-3, 0).

Label this point B.
Cross marked on grid Bl

(c) Write down the coordinates of the midpoint of the line segment AB.

A (42) B(-3,0) 4+-3+2=0.5
0+2+2=1

[ R

4,2)B1
(D

(1

0.5,1) Bl

(D

(Total 3 marks)
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Question 15.

2
(@) Work out 3 of 270 cm.

(270 +3) x2 =180

180cm B1
1)
(b) Use your calculator to work out (15 —3.5)>++/1.27 I T'Il' and write all the digits down.
132.25 +2.1377... M1
134.3877558 A1l
(2)

(Total 3 marks)

Question 16.
(a) Solve 8t+9=15
8t=15-9 M1

c= T Al
(2)
(b) Solve 7(r + 6) =35
7r + 42 =35 M1
Tr=-7
I
r=—=-1
!
r=-1A1
(2)
(c) Factorise 2x” + 6xy
2x(x + 3y) (M1) (A1)
(2)
(d) Simplify (h*)*
h'*B1
e}

(Total 7 marks)




Question 17.

Diagram NOT
accurately drawn

ABCis a straight line.
Angle BCD = 38°
The reflex angle BCD = 250°

Work out the size of the angle marked X.

Give reasons for your answer.

BDC 360 —250 = 110° M1
180 — (110 + 38) = 32°
180 — 32 = 148° M1

Angles around a point add to 360°
Angles in a triangle add to 180°

Angles on a straight line add to 180° C2 (needs 148 for first C1)

“PiXL..

partners in excellence

(Total 4 marks)




Question 18.

Here are the ingredients needed to make 8 shortbread biscuits.

Shortbread biscuits
makes 8 biscuits
120 g butter

60 g caster sugar
180 g flour

Tariq is going to make some shortbread biscuits.
He has the following ingredients

330 g butter 200 g caster sugar 450 g flour
Work out the greatest number of shortbread biscuits that Tariq can make with

his ingredients.
Y ou must show all your working.
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330+120 =2.75 alt 120/8 =15g 330/15 =22

200+-60 =3 1/3 60/8 =7.5¢g 200/7.5 =26.666

450 +180 =2.5 M1 180/8 =22.5¢  450/22.5=20 so max =20 biscuits
8§ x2.5=Ml1

=20 Al

20 biscuits A1l

(Total 3 marks)
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Question 19.

! 2
Aiysha worked out + .

She wrote

N|w
+
— =
Il

I
The answer of o is wrong.

(a) Describe the mistake that Aiysha made.

She forgot to multiply the 2 by 7. (Or - she didn’t change the numerator to 14) C1

(1)
! 2
Adam worked out 2'— X 3|—
He wrote:
3 6 1
2x3=6and - X —=—=-—
5 30 !
! ! !
So 2|— X 3'— = 6'—
! ! ! !
The answer of 6|— is wrong.
(b) Describe one mistake that Adam made.
He should have converted to improper
fractions first. C1
(1)

(Total 2 marks)




Question 20.

Maria is going on holiday to America.
She changes £250 into dollars ($).

The exchange rate is £1 = $1.60

(a) How many dollars should Maria get?

250 x 1.60 = $400 M1 Al

Maria wants to buy some music.

She can buy the music in America or in Germany.

The cost of the music in America is $29
The cost of the music in Germany is €21.50
The exchange rates are

£1 =51.60

£1 =€1.18

(b) In which country is the music cheaper?

America - $29/$1.60 = £18.13 M1
Germany - €21.50/€1.18 = £18.22 M1 Al

So cheaper in America Cl
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(Total 6 marks)
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Question 21.

5 female giraffes have a mean weight of X kg.
7 male giraffes have a mean weight of y kg.

Write down an expression, in terms of X and Y, for the mean weight of all 12 giraffes.

Total weight of female giraffes is 5x
Total weight of male giraffes is 7y

Mean weight of all giraffes is

ezl
12

MI Al

12
(Total 2 marks)

Question 22.

A solid cube has a volume of 64 cm’.
Work out the total surface area of the cube.

One side of cube is 4 cm (4 x 4 x 4 = 64) P1

Area of one side is 4 X 4 = 16 cm”> M1

6 faces on a cube so surface area is 6 x 16 =96 cm” Al

(Total 3 marks)
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Question 23.

The diagram shows a straight line, L;, drawn on a grid.

Y A
8

ko

-6 4 2 | o

[ ]
o

6 %

)

A straight line, L,, is parallel to the straight line L; and passes through the point (0, —5).

Find an equation of the straight line L,.

Gradient of line given is /2 M1
So equation of new lineisy="2x-5
MI1A1

(Total 3 marks)

Question 24.

-9<4n<12
nis an integer.
Write down all the possible values of n.

All the integers between -9/4 and 12/4 M1
Which are -2,-1,0, 1, 2, 3 A2

(Total 3 marks)




Question 25.

ABCis a triangle.
EFGH s a trapezium. A

51
B C
41 +8
E -1 F
5141 41 5141
G H
71-7

All measurements are in centimetres.
The perimeters of these two shapes are the same.

Work out the area of the trapezium.

Perimeter triangle is 5x + 5x +4x + 8 = 14x + 8 Pl

Perimeter trapeziumisx — 1 +5x+ 1 +5x+1+7x-7=18x—-6 Pl
So 18x—6=14x+ 8

4x =14

x=3.5 Al

Sub in x: Area trapezium is ¥ (2.5 + 17.5)x14 = 140 cm® P1A1
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2
............................... cm

(Total 5 marks)
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Question 26

Paul plays two games of tennis.
Each time he plays a game of tennis, the probability that he will win is %

(a) Complete the probability tree diagram.

First game Second game

e Win

Win

w9

Win

Not win

N
e Not win
E

e Not win
B

B1 1 B1

3)

(b) Calculate the probability that Paul wins at least one of the two games of tennis.

| ! ! 16
M1) (M1)

"
.............................. "—(3)
(Total 6 marks)

TOTAL FOR PAPER IS 80 MARKS




